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1. Choose the correct answer from the
following : 1x8=8

(a) The book, The Industrial Society : Three

Essays on Ideology and Development
was written by

(i) S. D. Parker
(i) A. Raymond
(i) C. B, Mamoria
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(2)

(b) Industrial Sociology was written in the
year

(i 1970
(i) 1971
(iii) 1979

(c) Whose name is associated with
Industrial Bureaucracy?

(i) Marx
(i) Durkheim
(iii) Weber

(d) In which year, the Industrial Disputes
Act was passed?

(i) 1945
(i) 1946
(i) 1947

(e) The Hawthorne Experiment was
conducted during

(i) 1924-32
(i) 1924-34
(iii) 1924-36
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(3)

() “Trade Union is an association of
employees designed primarily to
maintain or improve the condition of
employment of its members.” This
statement was made by

i) V. V. Giri
(i) R. A. Lester
(i) G. D. H. Cole

(g9 The Minimum Wages Act was passed in
i) 1947
(i) 1948
(iii) 1949
(h) The Employees’ State Insurance Act was
passed in
i) 1947
(i) 1948
(iti) 1949

2. Write on any four of the following (within 150
words each) : 4x4=16

(a) The task of Industrial Sociology

(b) Stress and counselling
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(c)
(@

(e)

(HE)

Necessity of Labour Welfare in India

Factors or causes for slow industrial
development in North-East India

Industry and Formal Education

3. Answer any four of the following questions

(within 500 words each) :

(@)

(b)

()

(@

(e)
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Write on the background of historical
development of Industrial Sociology.

There is a close relationship between
Industrial Sociology and Industrial
Psychology. Explain.

Discuss work from the Human
Relations Approach.

Write about the specific roles, status
and responsibilities of the different
levels of Industrial Organization.

Write about the changing scenario in
managerial functions.

Critically evaluate the provisions of the
Factories Act, 1948.
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